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A person marks his goods x% above the cost price and IIows a
discount of 30% on the marked price. If his profit is 5%, then the

value of x will be:

T {6 AN AT Fl AT GoF & X% T8 Sifoha hLar g ST sifha

T 9% 30% Ft FE T gl T STHT ATH 5% &, AV X FT AT T
(CGL MAINS 2018)

(A)50 (B) 35 (C) 45 (D) 60
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Sujata marks an article 36% above the cost price and aIIows a
40% discount on the marked price. The loss percentage is:

STAT Toh FEq I ANTT o & 36% AT HoT stohd LT g 3T
sifehd HoT 9L 40% 6T Fe <t gl i Taerd &
(A)5% (B) 3.5% (C)45% (D) NOT
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If the selling price of an article is 32% more than its cost price and
the discount offered on its marked price is 12%, then what is the
ratio of its cost price to the marked price?

i< Frdt aeg &1 O o7 IO 7T T 9 32% A8 g i< S9
STTehd o I &t ST 91T e 12% ®, T 39 FF I 7 3(fehd HoI

| FTATT FAT g7
(A)3:8 (B)4:5 (C)1:2 (D)2:3 (CGL PRE 2020)
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The marked price of an article is 2500. If the shopkeeper offers
two successive discounts, each of X% on the MP is equal to a
single discount of Rs 1056. If he offers only one discount of x%
on MP, what will be the new selling price of the article?

T e T St oI 2500 B IR THEI A FHRMT FE <dT g, vl
MP 9T X% T T3 Z< 1056 T it The Fe & qUa< gl Ii< 98 MP
T X% T Fad TF FE adT g, Al qE AT TAT (AT oI 79T 12?2
A)1800 B) 1750 C) 1900 D) 2150 (CHSL
2019)
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The marked price of a shirt was 1800 rupees. A man bought the
same shirt for 1200 rupees two getting two successive discounts.
If the first discount was 12%, what was the second discount rate?

T FH IS T S(fhad o 1800 €AY AT| Teh A<k A SHT 9T I ATATL
2 ZE TTH FLA & 918 1200 T § U7 3T | I qgait g2 12% o,

ar {H‘ﬁ e I /T A?
(A) 25.25% (B) 22.22% (C) 24.24% 5)
20.20%

(CPO 2019)
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Marked price of an article is 20% more than it’s cost pric. At
what percent less should it be sold for no profit and no loss?

U FE T ST HoF 59F 7 oI § 20% AT+ g1 9 faa7 e 3fix

g & fohas Iiqera 39 9 997 ST AT T?

(A)14.28 % (B) 14.15 % (C) 16.25% (D)
16.67%

(CHSL
2019)



912151 SSC 2023 AYNITE

Ramesh sold one fourth of his article at 20% discount, oe third
of his articles at 15% discount and rest at 30% discount. Find

the discount percent he has given on whole lot?

THL A YT FE Qas%ﬁm‘QZO% e I, TH [T a%g 15% ge
trISﬁ'{S?erO% FE T AT Iq 0T A1 I foha=r g Tiaera fe=m

g')

A) 22.5 B) 20 C) 17.5 D)25
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A article is sold at three successive discounts of 10%, 20% and
25%. If the selling price of the article is Rs.2,592 then what is the
marked price of the article?

T FEq Sl 10%, 20% 3T 25% =t AT A el € =T AT gl
i< aEg &1 AT o 2,592 T4 8, AT € F A Tohd oI FIT 872
SSC Phase X, 04.08.2022, Shift 3

(A) Rs.5200 (B) Rs. 4800 (C) Rs. 4900 (D) Rs.
5000
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What will be a single equivalent discount for successive
discounts of 20%, 40% and 75% on the marked price of an item?
Rl e 3 sifhd 4o T 20%, 40% 3R 75% Y SRR G F T
U TACT G FAT gIIT?

SSC CGL 25.05.2022, 2nd Shift

(A)65% (B) 78% (C)88% (D)45%
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A discount of 10% is offered on the price of an
article if the payment is made online. An
additional discount of 5% is given to credit card
holders. A person wishes to buy a watch priced
at Rs 60,000 by paying online through credit
card. How much does he need to pay (in Rs)?
i< AT ATATSA THIAT STTAT g AT Toh q& ol
AT I 10% Ht & A ATAT gl HiSS e GTLhI
Tl 5% T ATATE Fe & SATAT gl Th ATk Hiee
TS & ATETH q ATATST [T <k 60,000 T4
Ft FrAT arett TSt GEAT ATEAT gl S haAr
HITATT L i AFTHAT g (TTF H)?
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A T 1000 box of cookies is offered at
10% discount and a ¥400 bar of
chocolate at 8% discount. If we buy 2
boxes of cookies and 3 bars of
chocolate, what is the effective discount
we get (in % )?
¥ 1000 F Feh! 1o 9 10% FiT e 3T
2400 Ft FATholE T 8% T F< < AT L&l 8l
i< H Fohisl & 2 1o 3T Aol & 3 T
ey § Y gif STH S ATl T g (%
¥) AT 82
SSCT-1119.02.2017
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After allowing a discount of 10% on
the marked price of an article. It is
sold for ¥ 360. Had the discount not
been given, the profit would have
been 25%. What is the cost price of
the article?
U qEq & 3ATohd T ¢ 10% FT & o
% 121 39 T 360 ® 99T S1aT gl TlS B
Tl &l STt qv AT 25% ATl &g F
T qoT T g7
(A) ¥ 350 (B) X 360 (C) ¥ 320
(D) ¥ 325
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The difference (in Rs) between a discount
of 35% on Rs 3,600 and two successive
discounts of 30% and 5% on the same
amount Is :

3,600 T9Y 9T 35% #H T AT YT I I
go:gaﬁ'is% A FHAF e & 919 A< (T
) 2.
(A)54 (B)78 (C) 82

(D) 52

(SSC CGL 2023 PRE)
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The marked price of a ceiling fan is Rs
4,200 and the shopkeeper allows a
discount of 5% on it. If his profit is 14%
then the cost price of the fan is :

T HIToRT e 7 3T T 4,200 T g 3T
ZHIR T T 5% FiT FE aT gl I Iqh
ATH 14% g AV 9€@ FT ANT G &

(A)Rs 3,200 (B) Rs 3,800

(C) Rs 3,000 (D) Rs 3,500

(SSC CGL 2023
PRE)
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The marked price on a book is Rs 1,000. In
a book fair, it is available for sale with a
discount scheme offering two successive
discounts of 12% and 8%. What is the final
selling price (in Rs) of the book for a
customer (rounded off to the nearest
integer)?

TH qEa® 49X tha =T 1,000 T gl TH
e Het 0, T8 12% 3T 8% T I FiWF Fal
T ALUHLT ATAT Fe TreAT & a1 fasht F g
SUTsY gl TH ATgd & (AT TEqh & FqH
%I o7 (F0Y ®) T g (MFeaq Quris T
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A shopkeeper allows a discount of 10% on
the printed price of his goods and thus
gains 20%. What is the ratio between the
cost price and the printed price of the item?
TF TFMEIRL Aq9 G i qiad HAEd I
10% T FE AT § AT TT TH1L 20% T ATH
YTH AT gl ART G T T & o T &
1= T SAATT FAT §7?
(A)3:4 (B)2:3 (C)4:5 (D)1:2
(SSC CGL 2023

PRE)






